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1. J1o 3 dx =(a) ~~ (b) 14 (c) 22 (d) 24 
2 .J5x -1 5 5 5 5 

1 1 1 
2. >J( Jx2e2xdx = (a) -x2e2x +-xe2x --ex +C 

2 2 4 

3. 

4. 

5. 

6. 

7. 

(b) 1 2 2x I 2x I 2x C -x e --xe +-e + 
2 2 4 

I I I (c) -x2e2x --xe2x +-e2x + C 
4 2 2 

122 1 2 I? 
(d) -x ex --xe x +-e-x+ C 

2 4 2 

r I 7r 
7r (d) 7r --

2 
dx = (a) ;r (b) - (c) -

-l+x 2 4 8 

1 e-!X fo r=(a) 2e-1 (b) 2e+I (c) 2(e-1) (d) e-2 

-I -1 -I 1 1 
>J(-+-+···+ +· .. (a)-I (b) -- (c) --

I-2 2·3 n(n+l) 2 4 

r I 7r >j( dB= (a) - (b) 
-tr 1- e cos e I - e 

2;r (c) ;r 
I-e .J1-e2 

>J( fii2x-3~= (a) 37 (b) 
37 

2 
(c) 37 (d) 37 

4 8 

(d) 
I 

8 

(d) 
2;r 

)I- e2 

1 ' 
8. >J( J sinlnxdx = (a) 2mx(sinlnx-coslnx)+C. C *'ffil~ 

· (b) l.sinx(sinlnx-coslnx)+C. C *'m'IS?: 
2 

(c) l.x(sinlnx-coslnx)+C. C ~'ml~ 
2 

(d) l.cosx(sinlnx-coslnx)+C. C ~'m'IS?: 
2 

9. Find J lOx
2 

+ 
9

x +I dx = (a) lnlxl-+: 2lnlx + 11 + lnl2x +II+ C. C ~'ffif)?: 
2x3 +3x2 +x 

(b) lnlxl + 2lnlx +II+ 2lnl2x+ II+ C. C ~'ffil~ 

(c) lnlxl + lnlx+ II+ 2lnl2x+ II+ C. C ~m~S?: 

(d) 2lnlxl + lnlx+ 11 + 2Inl2x+ 11 +C. C ~m~S?: 
-~ 
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10. ~Ez:Jt§~~ 10 0:-R.~~T · B~::X~T&5¥:k~'J¥UJffi~Z~=¥- · fUff.!-~ 
~-~~•*~~~-~EI~T~~w~~m~~-~~~~~~0:-R.? 
(a)15 (b) 20 (c) 25 (d) 30 

= , ~p}g~m so 51 

I. (10%) fUff.!1T~5t>1( ~ Zlli1~1H o 

J,
4 1 

2. (10%)>1( ~ JXdx = 
I xe x 

3. (10%) f(x)=~x+~x+Fx >j( /(x)= 

4. (1 0%) *UifT57U~Il~~@itf49:~ , {liRftf:49:~~~t1f~: 

(5%)(a) f(-1rn2:4 
n=l 2 

(5%) (b) . sin2 sin3 sin n 
sm1+-+-+···+-+··· 22 32 n2 


